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Anrebpamnyeckaa apobb.
CokpaleHue apoben.
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CokpaTuTb ApObb. %
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YMHOXUTb YymucnuTtenb u
3HameHaTenb Apobu Ha 2, 3,
B
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HauTu 3HauyeHue
BbIpAXeHus.

- (2a+8B):a

- Tlppa=1 8= 3.
* Tlpna=0;8=4
- Tlpna=2;8=0.
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+ Anrebpanyeckumm
ApO6SMU HA3bIBAFOT
BbIpAXeHusa BUAQ:

a 12 7y—4
6 g—p Y

1 4x(x+1D)+y
ab Sy(yv+1)+x




HonycTumele 3Ha4YeHus

byKB.
- Kakue 3HaueHus
MOXeT MPUHUMATL Ta—38
bykea a? TTouyemy?
A
Ta—38
a+1
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HauTtu ponyctumere
3HaUYeHUs byKs.

3a+6 26—4
a> -3
dk -2 2a—86

= 5—K (a-1)(6-2)




OcHoBHOEe CBOUCTBO
Apobu.

A m-d

g_m-b

Yucnurtens u 3HameHartenb
APO6U MOXHO YMHOXUTD
(paspenutb) Ha OAHO U TOXe
Yymucno.




YnpocTtUThb
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CokpatuTb Apobb
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